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Part A
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def quick_sort(numbers, start, end):
if start >= end:
return numbers
mid = numbers[start]
Tow = start
high = end
while Tow < high:
while Tow < high and numbers[high] >= mid:
high -=
numbers[low] = numbers[high]
while Tow < high and numbers[low] <= mid:
Tow += 1
numbers[high] = numbers[1low]
numbers[high] = mid
quick_sort(numbers, start, Tow - 1)
quick_sort(numbers, Tow + 1, end)
return numbers

BEANT:

numbers = [1,3,0,2,8,4,4,2,5,6,10,-8,1]
quick_sort(numbers, 0, Ten(numbers) - 1)
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def merge_sort(numbers):
if len(numbers) <= 1:
return numbers
middle = int(len(humbers) / 2)
left = merge_sort(numbers[:middle])
right = merge_sort(numbers[middle:])
merged = []
while Teft and right:
merged.append(left.pop(0) if Teft[0] <= right[0] else right.pop(0))
merged.extend(right if right else Teft)
return merged

BEARUT:

numbers = [1,3,0,2,8,4,4,2,5,6,10,-8,1]
merge_sort(numbers)
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BN BHn > 1

% A N bool ##, HIUAN4Ekikmitrue (Zig AL0] 1 A[1]).

for i =2, 3, 4, ..., AL sqrtn):
if A[i] N true:
for j = iA2, i * A+ 1), di* @G +2), ..., Fidn:
A[j] = false
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